EE22]0 Electric Cireuits HW.I A'\S.




u-chm(wU
= - 2 Tt (wt)

Figure 1. f cos (wf)] dt
av? T

[ (Tr4V, Itcos(ut)] o 2l
=TL[R e

l:
J /
v,V 1] i,A
-3.6 [-30 “hb | Ao ) e = SREER T T Tl [/A)
24 | 20 1 P 59— (-39)
6.0 | 50 4 cosud
el ) slope o b > = o LV/A)
(a) (b) Sl
Figure2. > -V PI‘T’ Ta 5{(,72[«, e

with slepe = our(V/4), 50 ths  elemart

75 Jineay:

2- )

Wt con gu/ %Y -fwnv.ow fam Q)

Uz 0k ulox W el 4t m\/&

R &



v £6Q

L
+ L
v 240 2A

Figure 3.

=
kil @ ¢+ oy 4 & "’")e" 0
ek 1@ p v [ 2 Bty B le 0
= g = o0V e, = 0.2V
= To = e =R A ®




2 kQ

Ve 1kQ

Figure 5.

Iw!l i1 li:‘

10 kQ 2500 Q 3 2 kQ

i
s (’:) 18 V
12 i
: ve 21kQ
Vs 10 mA

(a)

Mesh1: i; X 10k+(iy+i;) X 2500=0
Mesh2: i,=10mA

Mesh3: 18-i3 X 2k- i; X 1k=0

i1=-2mA,i,=10mAi;=6mA

V= i3 X 1k=6m X 1k=6V
v;=18-( i+ i) X2500=18-( -2m+10m) X 2500=-2V
ib=-( ip+ i3)= -( 10m+6m)=-16mA

ig=-i;=2mA

(b)
The power supplied by the voltage source is 18 X (- i,)=18 X 16mA=288mW



{)lz"‘ia"' v‘-";x “ix"o

Vi =6l = Vo + Adx

12- A V. - iz(A+6)
At2y ST pA+2F La

;Lé@ .2./3 = ‘/o=_2;v$+7

o 12-A
A.,llf_z :$ A: -2 #
;2(A+6)

Aty .

5 Vp=

-9 > la "’"‘75




T wwe

(Y

Lok
I ;

0 ] [
‘MQD kS, . %—)2\/ = (] (%\b %lok @ oam QQWQE‘%
’ L e
Noyton '
e A
2 Yy
b
Thevenin g
8\ 8. Use superposition to find the voltage v in Figure 8. (10%)
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9. Determine the voltage vs in Figure 9. (8%)
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V=-12V - (—-18V) =6V
=1, =15V, =94

250 mA
v

i 40 Q

BN

i6 = 1.5('2

node 1

From nodel,

Current in = Current out
250mA+iz; =i, =94
—2i:=94A-250mA=8754A

= V. =R+I=402875=350V

V5=’35'°V



